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1. The first Paleolithic tool in India was 1. 5rE80%08° O (WIS BTN B0

discovered at S0y @rodo
(A) Bhimbetka (A) HS> 26,
(B) Pallavaram (B) Sgco
(C) Nevasa (C) 5%

(D) Kupgal (D) 36

2. Neolithic sites in Bihar show neolithic 0 BrEST) S BeraslD 3;;60"@682) ;%m&oi)

pottery containing

JB08° DD 95T
(A) Plant material
® B (A) 33 TEoPHed

ones

(B) x00%en
(C) Rice-husk

C) 005 e
(D) Fish bones ©) FOE

(D) D5 50080

3. The NBP has been found at
3. aNS.8.2. &89 @rodo
A) Mohenjadaro

(A)
(B) Taxila (A) oo’
(C) Kotdizi (B) &58o
(D) Dabarkot (C) §%5&e2
(D) ©e2xb8%S

4. The earliest known hominid skeletal find

in India is found at

(A) Burzoham (A) wrgSfo

(B) Kurnool caves (B) s&men oo
(C) Hathnora (C) =8y

(D) Bagor (D) xR
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5. The major difference between Varna and
Jati is that
(A) Varna was formed after jati
(B) Jati was derived from Varna

(C) Varnas are only four but Jatis are

many

(D) They are unrelated

6. Ashoka is mentioned by name in the

inscription found at
(A) Dhauli

(B) Erragudi

(C) Rajulamandagiri

(D) Nittur

7. Jain philosophy is known as
(A) Syadvada
(B) Pudgala
(C) Sankhya
(D) Dvaita

8. The oldest among the Prajna Paramitha

Buddhist texts is known as
(A) Khuddaka Nikaya
(B) Sraddhotpada-Sutra
(C) Ashtasahasrika

(D) Lalitha Vistara

(A) ed &0 9F0 €8I0
(B) 50500 &8 eiygapod
(C) oo Teolh, erdoes 880

(D) 9:50y050 e9:50250G5mO8

6. ©80AD VHE HEH) THBO DD Tew

(A) &0
(B) Qgroc
(C) orero S00c3Rd

(D) Deazss

7. 33 8T ) 3T @906 T

8.

(A) @"0365"565
(B) 2o
(C) Sroy

(D) &

DgTTS ¢ Togred” FPIIIS o

28 eadob

(A) o558 50

(B) g oo
(C) epTrs

(D) 088 335
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9. Kharavela of Kalinga fought with
1. Kanvas

2. Satavahanas

3. Cholas

4. Cheras

5. Pandyas

Codes :

(A) 1,2,5

(B) 1,2,3

C) 1,2,4

(D) All the above

10. The main theme of Sangam literature is
(A) Philosophy
(B) Marriage

(C) War and Love

(D)

D) Administration

11. Early Pallava inscriptions were composed

in

1. Tamil

2. Prakrit

3. Sanskrit

4. Brahmi

Codes :

(A) 1,3
(B) 2,4
(C) 1
(D) 2

10.

11.

SYON TFS rtendis 08 ahagoDT™
1. o0

2. TOEITR0eD
3. Jeden

4. Do

5. oo
Sodores

A
B
C
D

1,2,5
1,2,3

(A)
(B)
(C) 1,2, 4
(D) w50

0N T28508” (BT 38HB0

(A) &850

(B) 29

(C) coggason $080%0 (239
(D)

D) 583re9

O Sues THT0K 58 5PaE OPomrtd
1. &do

2. %o

w

dodq %o
4. grary
Sodores
A 1,3
B) 2,4
C) 1

(
(
(
(D) 2
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12. The Mathura School of Art sculptured the | 12. 50¢556 8ey08° H0X°3:S Bomyen

images of
9 1. Bros égogcs

1. Naked figure of the Tirtankara
2. The Head of Kanishka
3. 20 S
3. Image of the Buddha

4. 20mr0cd raro
4. The Statue of Menander

(A) 1,2,3 (A) 1,23
(B) 1,2 (B) 1,2

(C) 1 C) 1,3
D) 1,2,3,4 D) 1,2,3,4

13. Given below are two statements, one 13. &mzsiﬁ"bm&:sao@@ ffa%é’)%aém%o A)

labelled as Assertion (A) and the other
VoS8 se0eseeo (R)

labelled as Reason (R).
QO TEE (A) 1 TIIy  (Deeo DY

Assertion (A) : Harappans extensively

D S® @O DI A
followed the grid system RS M

in town planning. SROODOTED
Reason (R) : There are evidences of eagirse (R) 1 0T T8’ Symrse
the radial pattern in :;cg@é@cyco@m;ow
some Harappan sites. (A) ‘A’ 500000 ‘R’ Bocr Tgiso, 508a5s ‘R
(A) Both ‘A’ and ‘R’ are true and ‘R’ is A o8y, HDERS D50

the correct explanation of ‘A’
(B) ‘A’ 5080%0 ‘R’ Do T%d0, wowe ‘R’
(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
‘A3 DB J5CE T
the correct explanation of ‘A’

(C) ‘A is true but ‘R’ is false (C) ‘A0, o R sy

(D) ‘A’ is false but ‘R’ is true (D) ‘A’ &5, wons ‘R’ %o
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14. Given below are two statements, one

labelled as Assertion (A) and the other
labelled as reason (R).

Assertion (A) : Rigveda was never a
popular text.

Reason (R) : It was aritual text.

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

15. Match List | with List Il and select the

correct answer from the codes given
below.

List I (Chalukyan Kings)
A. Pulakesin |

B. Pulakesin Il

C. Kirtivarman

D. Vikramaditya Il

List Il (Achievements)
1. Founder of the Chalukyan
2. Visit of Hieun Tsang in his reign

3. Successful invasion of the Pallava
kingdom and the repulsion of Arab

invasion
4. Defeated by Dantidurga the founder of
Rashtrakuta dynasty
Codes :
A B C D
(A) 1 4 3 2
(B) 2 3 1 4
) 1 2 3 4
(D) 1 2 4 3

14, /050 2875000 Dok Jstead’ e.563 D3

(A) Bocssd sesesgirso (R)
QB T (A) 1 w0shiso PRato 89 ogo
T0eagirE0 (R) & @98 es0°8 0200650 (Togo
(A) ‘A’ 508050 ‘R’ o m750, Sobakn ‘R’
‘A’ Go08), &JQDéTDBé DXTED
(B) ‘A’ 5080%0 ‘R’ Do o0, wowe ‘R’
A 2 PDBERIS D5ED S
(C) ‘A’ %050, woad ‘R’ &y
(D) ‘A’ &y e ‘R’ T%d50

15. 563512 5635 11 & 5200y 8ocs 3Oy dodored

O BEFTTR0 ASNE od.
B35 | (905 Trezren)

A. 306563 Hedd

B. Qo 9edd

C. Bocss dgwe,

D. Docs DEST

235 1 (Do)
1. D"’%%Zﬁg,ﬁ@%édo
&)
2. B BOT0H oS FTVATRSTHON KOS
3. JRPoP VeI ©e SOl
NSNS etnlwle)

4. TPPEPL JGHTI0GS SodSay IS
£.C50:380Ce0

Sodoes

A B C D
(A) 1 4 3 2
(B) 2 3 1 4
)1 2 3 4
(D) 1 2 4 3
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16. The first Persian poet who used Hindi/

Sanskrit words in his writings was
A) Abu-Raihan Alberuni

(
(B) Minhaj-ul-Siraj
(C) Amir Khusru

(

D) Zia uddin Barani

17. ‘Pallichanda’ means
(A) Rent lands

Brahamanical temples

free given to

(B) Rent free lands given to Jaina and
Buddhist temples
(C) Village lands of Medieval period

(D) Village offerings of Telangana

region

18. The medieval city of ‘kol’ is presently

called with this name
(A) Delhi
(B) Ajmir
(C) Alighar
(D)

D) Ahamadabad

19. Which of the following is not correctly
matched ?

A) Rama Chandradev — Deogiri

(
(B) Pratapa Rudradev — Warrangal
(C) Viraballala — Dwarasamudra

(

D) Virupaksha — Madhura

TR0 D°Coedd
A) ©920-0578S-esedSd
B) oSseef—esd-200ef

C) &b o

(A)
(B)
(C)
(D)

D) 2o eés 2°d)

17. 3800 e
(A) 2oty Brooiread 550 850 0PMHed
SRR
(B) 25, Feiimrooiro Sy S50 im0
JUIPL
(C) So¢s5osbon [riso gisooes

(D) Doorrer @0 [EomToren

18. S0¢50ion TPeo el “E' Béer0 (B0 B

DHE BBt

19. 52 @00 T3S DA $OB exBoeH
(A) TPHOB0IER — ODAG
(B) QT5hsos - SEoNS
(C) ey - T8

(D) DEFE - 55
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20. The Vachana Movement was popularised
by

A

B

Basaveswara
Jnanadeva
C) Vallabhacharya

(
(
(
(D

)
)
)
) Shankaradeva

21. The Islamic law is called as
(A) Jahandari
(B) Dindari
(C) Shariah
(D) Shafai

22. Match the following :

Listl Listll

A. Sikka 1. Letter of Investiture
B. Khutba 2. Muslim theologian
C. Mansur 3. Non-believer of Islam
D. Aalim 4. Coin

E. Kafir 5. Friday prayer

Select the answer from the codes given

below :
Codes :

A B C D E
(A4 5 1 2 3
B)4 5 1 3 2
(C)5 4 2 1 3
(D)5 4 3 2 1

20. 5D 35500 DO ERotoE™ BT
(A) exSgEcd
(B) exsdss
(C) Swaroeds

(D) o350

21. 57208 19690 B¢ DGO HROHVCEWND
(A) es5%00
(B) &S0
(C) =380k

(D) S0

22, 563512 23511 & 238 28y §ocs g% dodTred’

O BETTTOR0 AdnE o
| |
A. g 1. SoBRERD
B. sty 2. §w§o GETO0Z0
C. 208370 3. 3alomo SmHoImr
D. «do 4. TRo
E. 5 5. BETC0 T3 YD
ROSELLSD
A B C D E

(A)4 5 1 2 3
B)4 5 1 3 2
(C)5 4 2 1 3
D)5 4 3 2 1
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23. Krishnadevaraya defeated which Bijapur
Sultan with the support of Portuguese
soldiers ?

(A) Ahmed Shah

(B) Mohammad Shah
(C) Ismael Adil Shah
(D) Nadir Shah

24. Khalisa Lands of the Mughal period means
(A) Jagir Lands
(B) Crown Lands
(C) Fallow Lands
(D) Fertile Lands

25. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : All Mansabdars were
Jagirdars but all
Jagirdars were not
Mansabdars

Reason (R) : AfewMansabdars were

paid salary in cash and
not through the
assignment of Jagirs.

(A) Both ‘A’and ‘R’ are true but ‘R’ is the
correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’is true and ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

(A) erand ar
(B) S0 e

(C) gomond edd
(D) =05

24, 22708 oo POT° LS00 ST
A) 2R 2saes

B) o0 gekooen

C) 200238 grkooen

(A)
(B)
(©)
(D) Frs508 800

25. BMo5 BEUSWES Boko ISTHS adel
QBB 7550 (A) BoiNd s Sesereo (R)
BB TE0 (A) 1 L0t Mogeamthes erAd
SN ST Infe
erfborten

0N EVTT OO0

T o®0.

5202380 (R) @ §°0 2000 505e0trehed
A GrDed” st
BT SNEO FrHods®
aci)ow’d)

(A) ‘A 500050 ‘R o, =20 ‘RA %
@&Qé@é M)nletar!

(B) ‘A’ 508ax0 ‘R o, =20 ‘RA %
aa&aéﬁgé AN T¢I

c ‘A a0 ‘R &9y

(D) ‘A &y ‘R TR0
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26. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Raziya Sultana was a
successful administrator.

: She

supported by Ulemas

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’is true and ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

Reason (R) was ably

27. Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : Baji Rao | assigned
different territories to
prominent Marata chiefs as
their “Sphere of Influence”

Reason (R) : Various Marata chiefs

began to rule their
respective areas as
independent rulers from
the time of Baji Rao |

(A) Both ‘A’ and ‘R’ are true and ‘R’ is
the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not
the correct explanation of ‘A’

(C) ‘A’is true and ‘R’ is false

(D) ‘A’ is false and ‘R’ is true

26. Q0D 0E87Sed0 Dotk JNoed 6.5 D3
(A) DoEsd S (R).
2B 50 (A) 1 TEAD B0 DeaiboBRnd
563"@)@"’(}55%)(7’@0
a0 (R) @ R0 80080 e&dkhren
B0¢3%0 FTND
(A) ‘A’ 50800 ‘R0 ‘R A’ £ 9y
DTED
(B) ‘A’ So8oxn R oo, =20 ‘R ‘AT
PNBRI J5CE T
(C) ‘A =90 ‘R’ &y
(D) ‘A’ &3y ‘R =750

27. &0 0875000 Dotk JNced 2,53 DB 50

(A) Bocsd sesesgireo (R)

Ao (A)  : Boowed erdoniy D
POV 0TT° 300300
0 w9050 §et eSorr
DS QPOTOD BITOCTD

sooeagrse (R) 1 200csed eredorsd) sPeo oo
JsBoon  BIoB IO
(TPOT°OF0 AV HOT°T°
8020 T 0T,
(A) ‘A 208050 ‘R a@ddo. 520 ‘R A" S
@&Qé@é M)nletar!
(B) ‘A S08a» R o93%0. =20 ‘R, ‘A’ &
PNBAD DT S
(C) ‘A 350 ‘R &5y
(D) ‘A’ 85y ‘R o0
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28. Match the following 28. 5635 105635 || & 225350y G0t 300 90

List| Listll 0% BT Rl
A. Igta 1. Crown lands whose | Il
revenue was meant
for the maintenance A. 3% 1. 20033 8 Ago, T
of Sultan and his PTPBNOD0C &30S
household S
B. Khalisa 2. Land assigned to 5 o
religious persons or B. 203 2. DBIHDYOD, S0Pt
institutions O IR0
C. Inam 3. Land assigned to C. oo 3. 2350 DBO GTLHODH
officers in lieu of 2 B0
salary D a4 & 3 o)
D. Madad-i-Mash 4. Land assigned to L OO0, 4. STSOD Seronod
artists IR0
E. Dar-ul-herb 5. Land of the Infidels E. o0-5-5e5 5. o giebooes
Select the answer from the codes given Yodoeens |
below :
Codes : A B C D E
A B C D E (A) 3 1 4 2 5
(A) 3 1 4 2 5 B)3 1 2 5 4
(B) 3 1 2 5 4 €1 3 2 4 5
©) 1 3 2 4 5 (D)4 2 1 5 3
(D)4 2 1 5 3
29. £0s BD0DD o000 SP00d” 23BRD QOO
29. Arrange the f_oIIowing be_lttles of the B (E505006° EPey500
Mughal period in chronological order L s
|. Battle of Ghagra R0 O 0bogo
|Il. Battle of Gujarat Il. #oesond asboggo
lll. First battle of Panipat 1. 325¢5¢3 3705063 oxbocso
IV. Battle of Chunar V. 5om6 atpogio
V. Battle of Khanawa . V. sv oo
Select the answer from the codes given @
below : KeSzres:
Codes : A mmnrviv
@ m i v
C) VI VI C)Wiviu
@) NV I IV Il D) mviivi
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30. Arrange the successors of Shivaji in

chronological order
I. Rajaram

Il. Ram Raja

lIl. Shambaiji

IV. Sahu

V. Shivaji Il

Select the answer from the codes given

below :
Amnnv \Y
® I VooV
cn v v Il
OV m VAR

31. The main object of the East India Company

in its trade with India was

(A) To establish markets in India for
British manufacturers

(B) To establish a monopoly of trade and
thereby to profit by it

(C) To carry away raw material for British
manufacturers

(D) To acquire territories in India

30. 3778 TC00R BEIE500E° eoy8

l. oreroesd
Il. oo&oores

. Hpere?

31. 5+ 5040 5020 gPOBRT0S HEE0 DA
PR 0F 50
(A) DS &3)TC00 5550 gro80sos’
25073, £050 e
(B) 585 dgrsod’ Momnddong) ererestoo
DS
(C) e300 S5 5000 S
Do

(D) erostisod” oot oo
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32. One of the points given below relating to

the impact of British colonialism is not
correct
(A) The British introduced the Zamindari
system in India
(B) The British colonialism led to the rise
of a class money lenders which
occupied a dominant position in the
rural economy
(C) British colonialism led to the
destruction of handloom and
spinning wheels which formed the
pivot of Indian economy
(D) British colonialism relieved pressure
on agriculture as a result number of

people given up agriculture

33. Which one of the following destroyed the
peasant’s rights over the land cultivated
by them ?

(A) Annual settlement
(B) Mahalwari system
(C) Permanent settlement

(D) Quinquennial settlement

DO L e90%¥0 eIPTC

(A) ©eI5mo @0oTd $gHsko roEtEos”

B0

(B) TrRoes €508 555:38° 56 e ST 0
Q] ?S Q@ (o) ?S [a)
esGE; TS50 VoD BURSeTEo

Eeesacioes

(C) arosdd ey 53998 HEEIs DI
$oB0K0 TEN0 TR0, ST BN

KO0 ERGESHcioe)

(D) @30S0 3080 Sg970%0  e.ds
&N, QEO)S D008 ;3555 3“055"3& Ne19)

ESIOREN)
[S)

33. 58 (S0 Beakheds 080 DL ), G

TR0 575,080 AETH0DB0
(A) OXROgSS 2e3S006
(B) 0G0 i
(C) 250w weddaoeay

(D) Houndam eddooed
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34. Who gained maximum on account of East
India Company’s monopoly over internal

trade ?
(A) The employees of the company
(B) Petty Indian traders
(C) The share-holders of the company

(D) The British Government

35. The Asiatic Society of Bengal was
founded by
(A) Raja Ram Mohan Roy
(B) Warren Hastings
(C) Sir William Jones

(D) Lord Cornwallis

36. Put the following in correct chronological

order

I. Permanent settlement
IIl. Subsidiary Alliance
lll. Doctrine of Lapse

IV. Partition of Bengal

(A) LI 1L IV
(B) 1L, 11,1V, |
(C) 1, IV, 11, 1
(D) 11,1, 111, IV

39 Qo oglo TPORTIED

(A) 509 el gHeo
(B) &roSok Dl Trcbes
(C) 5020 SsTerRagooen

(D) eSS st

35. &omd eshoiredS el BgSarses

(A) TerTro AT OD
(B) =53 argohy
(C) 6. 28amo £°5,

(D) 565595

36. (200 T3 (EXTR0NS Be3S’ 800

l. ZJ@@O(S 20350085

Il. PR D556 DG5S
%)

a

lll. oresgSoEsoen ?oc;;oéo

V. Sored devesd
(A) LI 10,1V
(B) 1, 11,1V, |
(C) 1,1V, 11, 11
(D) 11, 1,1, 1V


http://www.studentbounty.com/

37. The British introduced agrarian changes

in India with a view to

(A) Improving the conditions of India’s
peasants

(B) To fully exploit the available
resources

(C) Increasing their income from land
revenue

(D) Pleasing the Zamindars who were

their staunch supporters

38. Which poet and political thinker first gave
the idea of a separate Muslim State for the
Indian Muslims in 1930 ?

(A) Chaudhary Rehmat Ali
(B) M.A. Jinnah

(C) Mohammad Igbal

(D) Sikandar Hayat Khan

39. Which one of the following is correctly
matched ?
(A) “Do or Die” - Nehru
(B) “SwarajisMy Birth Right”—M. Gandhi
(C) “Give me Blood | will give you
Freedom” — S.C. Bose

(D) “Independence through Non-Violence

must be our Aim” — B.G. Tilak

R0:, 8300 (BT Ko S°CE0
(A) aroHam BEow S0P DS E0

(B) ©0¢50ereS® &) 350080 VBT Ko

Dadeo
(C) a0 3y T70° esTrorR)y 20030890

(D) (©1357°8 S3BOTTEDES 30T R
§%0

38. 1930 &° asoon grodob somoe 550 [y

T30 G0l gTIONN £, Tresdatd B8 8

(A) T8 E5508 9

(B) 2o. . &%y

(C) 2o asnd

(D) 28056 roSgrs

39. 200 373E" OGN TR HYoBod

(A) “Gresbg” -G

(B) S50ress0 o esiyamsy, — So5fEyTod

(C) “AS 2 @& » IS AS ¥ HEo” —
OR.2.85D

(D) “5000Gg) B Tra-003088) 50 ) e
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40. Match List | with List Il and select the
correct answer using the codes given

below :

List | Listll

A. Theosophical society 1. Madam Blavatsky
B. Swarajist Party 2. C.R. Das
C. Brahma Samaj 3. Raja Ram Mohan Roy

D. Arya Samaj 4. Swami Dayanand

Codes :

41. The money-lending class which was a
product of British colonialism
(A) Helped the peasants at the time of

need

(B) Provided loans to needy farmers at
nominal rates

(C) Exploited the peasants by charging
them exhorbitant interests

(D) Provided leadership to the peasants

revolts

40. 56351 0635 11 & 239080 $ods 30 B0

BOAD BETTT OB NS0
RS RSN |

A. BRSSPl 1. Docso arsedy,

B. X078 0 2. D.esb.oh
C. @epdsres 3. OPerTPORTI 00O

D. esCs 055 4. > SO70E

Sedore :

41, DeIDSesTES YNGR 550
(A) &PEHA0 DL @HT°IS TADIFE

(B) T5057E9) S8 D80 SondEse

SO0t

(C) w86 56 68 grodab Bros &0

DD

(D) B0 SortreresH TS oSO
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42. Which one of the following statements

correctly defines the term “Drain Theory”
as propounded by Dadabhai Naoroji ?
(A) thatthe resources of the country were
being utilized in the interest of Britain
(B) that a part of India’s national wealth
or total annual product was being
exported to Britain for which India got
no material returns
(C) that the British industrialists were
being given an opportunity to invest
in India under the protection of the
imperial power
(D) that the British goods were being
imported to the country making it

poorer day by day

43. The ‘Vatican City’ is
(A) The city of the Kings
(B) The city of the Ulemas
(C) The city of the Apostals

(D) The city of the Popes

(A) Beas PBTemre 5§90 gEHBak HESes

Dﬁ)@?ﬂoéa}cﬁaéowaow

(B) 2768 2dakd £0:5¢38° Soserio So° es
HOXBITE) YO EB BNy DD
OB DB )Hyedd dBA el oo

PGB0 Deroed (HAATese) PO &

(C) FSresgms Heods 55nsd QN
TOFEIBOK GTEBRFSE” epeides

2608 @5TE0 SoHE 0

(D) erosta=dy 8erderd BB SIS

Aead 3508 yB00 BXISOS
DOKRIEBITHO.
43. “Te355 e

(A) Treze SiSo

(B) e&ds5e s

(C) pesrse Hio

(D) e Ko
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44. The prince who never stepped in to the

sea but got the title ‘Navigator’ was
(A) John i

(B) Henry VlII

(C) Pnilip Il

(D) Louius XIV

45. The critic of Marxian theory of history is
(A) Robert Browne
(B) Thomas Carlie
(C) Trevaroper

(D) D.N. Jha

46. ‘Sigilography’ in historical method indicate
(A) Study of Inscriptions
(B) Study of Coins
(C) Study of Seals

(D) Study of Language

A4, D¢ SRS (550 DODHIOOT® “InResd

PoED o0 TRe
(A) eS|

(B) =& VIII

45. 538), 393 SOE Do DotyHed

(A) b &S

(D) &.25.507

46. TOBE SGHSE” “VAS e B BOCWBEOKE
(A) T e300
(B) g3 exggodido
(C) Do exgsedo

(D) erxe e9¢350000
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Read the following passage carefully and

choose the correct answer of the questions

that follow (Q.No. 47-50) :

The position of women in the social
structure is often marginalized in most
modern writings pertaining to the period
under study. However, that woman did
enjoy an important place in Vengi
Chalukyan society is known to us from
their visibility as patrons and their
involvement in different socio-religious

and cultural activities during this period.

A glimpse into the inscription of the Vengi
Chalukyas, shows that women during this
period did not really conform to orthodox
rules, but enjoyed considerable freedom
in disposing off their personal property
(stridhana), which they inherited from their
parents at the time of their marriage. The
Chimbuluru grant of Gunaga Vijayaditya
[l refers to his wife Chella or Challaka as
the donor of the village Chimbulur to a
brahmana. The Kaluchumbarru grant of
Amma Il on the other hand, referes to his

wife Chamekamba as having donated the

(%050 R BIPTTROR (Fraked.

5o S8 DoROPONT eENY waTod”
THrRE B0’ § JHo MBI HAHS
TREOSTB0. 900D, T 95°e08° DErenTr €3
T D) TRTRE, TOE IO BE TEITT0E’
TG T Dol 0 H7e08” SRHATD.

VT (5009 T STOVRSER BOCDH0E.

?JW)

QOBIT® T8 DORITAITOR0 DE0R) DTS,

(¢

29y DBoa0eS’® BB SOOI Bood S

3 G550 IBAOE” BRSO FgBoE0 BIow TED

20f TE0E5e TR0 Daro (RoQor erdees
2001 : 84) roean (00°¢ess ) DesolordEogd e7Ss
D9 85 B8 & ErimEads Dowoertd [TH)
T°0 QWD e WDOoROTTY TAI0 VYO
(3111 6 -15). Docis esmTres Sootiooa(th T%d
TR0 BB gIC5 TRT"08) Etooeddd [R5
& BUTigi oot Trododyien 9ol
(30 VI 179 - 192). 5072050 D5joidtisod 00
§0cs TR0, 20e5e3 $g) Do &S NSO
B TG (VY DOV Ao TS SWHoD

Qﬁgéﬁ" & §35°boéooo& (83205 &b ASXVI:
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47.

village Kaluchumbarru to a Jain teacher
Arhanandin. In the Musinikonda
inscription of Vishnuvardhana Ill, Ayyana
Mahadevi, wife of Kubja Vishnuvardhana
[, is mentioned as the writer and executor
of the charter, exhibiting her literary skills.
These instances throw considerable light
on the enhanced social position and the
nature of their property rights that they
enjoyed. Further, these examples also
show how women as patrons exercised
‘control’ over their wealth, its disposal and
the power and prestige they partookin, as
owner of their property, with in the socio-
economic structure of the period and
cultural significance that was attached to
the patronization of different religious
groups that provided them with social

identity.
The better position of women in Vengi
Chalukyan period is visible in

(A) Involvement in Socio-religious and

cultural activities
(B) Vedic Rituals
(C) Contemporary writings

(D) Intemple panels

$57E0),0 RGBTS0 55 TIIED 99 K BOos.
&5 1, DR Yoo B §S0 P 8RS0 SOA
€0¢56208°, RO 008", esd ODesRIPRIT YT
w20gRoBNEos” T #8, BehYH-EPes B0
EXIETCERD TEITTTON. €5 309, €3 TP JHIT°eS,
©0¥ S0od” Py TOE Wyomresd N0
3595830859 TONHBE (FPR0PB0, @& é@o
T (OG0 TSI 3 DRI (@he

%68 2007 : 135).
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48. Women inherited ‘Stridhana’ at the time

of
(A) Their birth itself
(B) The death of their husband
(C) Attaining puberty

(D) Their marriage

49. Ayyana Mahadevi apart from being a

queen was also a
(A) Artist

(B) Painter

(C) Writer

(D) Dancer

50. Women’s authority over ‘Stridhana’ is

displayed through
(A) Donations of villages
(B) Donations for temples
(C) Donations to Arts and Crafts

(D) Donations to rituals

(A) essse

(B) &8 205830 59
(C) Sesdge @008)¢8

(D) =50

49. T3 IS ‘@0l Koar 508° DeSorr Ky

B850 FoTEd

(A) So=0e3

(B) Q@g=~oel

(C) SR
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